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Translation in English
Sub: Urban Sociology (SC-402)

Date: 26/12 / 2022 Marks : 60 Time : 2.00 pm To 4.30 pm

Instructions:
1) All Questions are Compulsory
2) Figures to the right indicate full marks.
3) In the case of any doubt the Marathi version shall be held to be authentic and final.
4) While writing answers the respective question numbers must be mentioned in the
Answer Book.

Q.1

11
1.2
13
14

15
1.6

Q.2.

2.1
2.2
2.3
2.4

Q.3.

3.1
3.2
3.3
3.4

Answer the following questions in detail. (Any Four) (40)
Explain difference between rural and urban community.

Discuss the factors responsible for rapid urbanization in 20" century.

Write characteristics of marriage.

Which are the changes that have occurred in the institution of religion due to

urbanization?

Explain reasons of problem of beggary.

Write the functions of cities.

Answer the following questions in brief. (Any Two) (10)
Explain urbanization and urbanism.

Write types of migration

Write state characteristics of modern family

Elaborate the need for Town Planning and state its main principles

Write short notes. (Any Two) (10)
Pull and push factors responsible for migration

Types of ancient cities in India

Slums

Nature of urban education
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